Select all and only the sets below that have (0 as an element.
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Select all and only the sets belowit‘hat have the ordered pair (2, 0) as an element.
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X%( \A y ) \ X e Z < /5 ?- Term Notation Example(s) We say in English ...
all reals R The (set of all) real numbers (numbers on the number
line)
Ncck \ NOHS > | all integers The (set of all) integers (whole numbers including neg-
?3 A e atives, zero. and positiv
Cau\a never all The (set of all) strictly positive integers
\f all natuml numbcls The (set of all) natural numbers. Note: we use the
bc convention that 0 _is a natural number.
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RNA is made up of strands of four different bases that encode genomic information

in specific ways. The bases are elements of the set
{A,C,G,U}. The set of RNA strands S is defined (recursively) by:
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When running the algorithm logb for calculating the integer part of base b logarithm with inputs
b=4andn = 25,

which of the following calculations are helpful? Select all and only the calculations that are both 2‘3 é‘\l q» ] @

relevant to the algorithm trace and are correct. .
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\,)tl.v' 2 Netes logb( (b,n) ) = greatest integer y so that bY is less than or equal to n
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Calculating integer part of base b logarithm

1 procedure logb(b,n: positive integers with b>1)
2 i:=0

3 while n > b—1 I >; x

4 7= i+1

5 n = n div b

o

return i {i holds the integer part of the base b logarithm of n}




